	ACCOUNTING: What the Numbers Mean
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	Problem Description:
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	Bacon, Inc., has the following owners' equity section in its May 31 ,2002, comparative balance sheets:

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	May 31, 2002
	
	April 30, 2002
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	Paid-in Capital:
	
	
	
	
	
	
	
	

	
	
	Preferred stock, $120 par value, 8%, cumulative,
	
	
	
	
	
	
	
	

	
	
	    50,000 shares authorized, 40,000 shares issued
	
	
	
	
	
	
	
	

	
	
	    and outstanding
	
	$
	4,800,000 
	
	$
	    4,800,000 
	
	

	
	
	Common stock, $6 par value, 300,000 shares authorized, 
	
	
	
	
	
	
	
	

	
	
	    200,000 and 190,000 shares issued, respectively
	
	
	?
	
	
	1,140,000 
	
	

	
	
	Additional paid-in capital
	
	
	8,400,000 
	
	
	    8,240,000 
	
	

	
	Retained earnings
	
	
	6,950,000 
	
	
	    6,812,000 
	
	

	
	Less: Treasury common stock, at cost; 9,000 shares and 
	
	
	
	
	
	
	
	

	
	    8,500 shares, respectively
	
	$
	(830,000)
	
	$
	     (816,000)
	
	

	
	Total stockholders' equity
	
	$
	
	
	$
	  20,176,000 
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	Instructions:
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	Please proceed to the "Analysis" worksheet and complete the basic problem requirements.  Complete the problem
	

	
	requirements by entering appropriate amounts or formulas in shaded worksheet cells: 
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	a.  Calculate the amount that should be shown on the balance sheet for common stock at May 31, 2002.
	
	

	
	
	b.  The only transaction affecting additional paid-in capital during the month of May was the sale of additional common

	
	
	 stock.  At what price per share were the additional shares sold?
	
	
	
	
	
	
	

	
	
	c.  What was the average cost per share of common stock purchased for the treasury during the month?
	

	
	
	d.  During May, dividends on preferred stock equal to one-half of the 2002 dividend requirement were declared and

	
	
	 paid.  There were no common dividends declared or paid in May.  Calculate net income for May.
	
	

	
	
	e.  Assume that on June 1, the board of directors declares a cash dividend of $0.42 per share on the outstanding 

	
	
	 shares of common stock.  The dividend will be payable on July 15 to stockholders of record on June 15.
	
	

	
	
	 1.   Calculate the total amount of the dividend.
	
	
	
	
	
	
	
	

	
	
	 2.   Explain the impact this action will have on the June 30 balance sheet, and on the income statement for June.

	
	
	f.  Assuming that on June 1 the market value of the common stock is $36 per share and that the board of directors 

	
	
	 declares a 3% stock dividend on the issued shares of common stock.  Use the horizontal model (or write the 
	

	
	
	 journal entry) to show the issuance of the stock dividend.
	
	
	
	
	
	
	
	

	
	
	g.  Assume that instead of the stock dividend described in f above, the board of directors authorizes a 3-for-1 

	
	
	 stock split on June 1 when the market price of common stock is $36 per share.
	
	
	
	
	

	
	
	 1.   What will be the par value, and how many shares of common stock will be authorized after the split?
	

	
	
	 2.   What will be the market price per share of common stock after the split?
	
	
	
	
	

	
	
	 3.   How many shares of common stock will be in the treasury after the split?
	
	
	
	
	

	
	
	h.  By how much will total stockholders' equity change as a result of:
	
	
	
	
	
	

	
	
	 1.   The stock dividend described in part f?
	
	
	
	
	
	
	
	

	
	
	 2.   The stock split described in part g?
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	After completing the "Analysis" worksheet, please proceed to the "What the Numbers Mean" worksheet and respond

	
	to the additional problem requirements.
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	ACCOUNTING: What the Numbers Mean, 5e
	
	
	
	
	
	
	

	Chapter 8  Problem 8-28
	
	
	Name: 
	Enter Name
	

	
	
	
	
	
	
	
	
	
	

	Complete the Modeling:
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	May 31, 2002
	
	April 30, 2002
	

	
	
	
	
	
	
	
	
	
	

	
	Paid-in Capital:
	
	
	
	
	
	
	

	
	
	Preferred stock, $120 par value, 8%, cumulative,
	
	
	
	
	
	
	

	
	
	    50,000 shares authorized, 40,000 shares issued
	
	
	
	
	
	
	

	
	
	    and outstanding
	
	$
	4,800,000 
	
	$
	    4,800,000 
	

	
	
	Common stock, $6 par value, 300,000 shares authorized, 
	
	
	
	
	
	
	

	
	
	    200,000 and 190,000 shares issued, respectively
	
	
	
	
	
	1,140,000 
	

	
	
	Additional paid-in capital
	
	
	8,400,000 
	
	
	    8,240,000 
	

	
	Retained earnings
	
	
	6,950,000 
	
	
	    6,812,000 
	

	
	Less: Treasury common stock, at cost; 9,000 shares and 
	
	
	
	
	
	
	

	
	    8,500 shares, respectively
	
	$
	(830,000)
	
	$
	     (816,000)
	

	
	Total stockholders' equity
	
	$
	
	
	$
	  20,176,000 
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	a. 
	Calculate the amount that should be shown on the balance sheet for common stock at May 31, 2002.
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	ACCOUNTING: What the Numbers Mean, 5e
	
	
	
	
	
	
	
	
	
	

	Chapter 8  Problem 8-28
	
	
	
	
	
	
	Name: 
	Enter Name
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	What does it mean?  Question 1:
	
	
	
	
	
	
	
	
	
	
	

	
	b.
	The only transaction affecting additional paid-in capital during the month of May was the sale of additional common
	
	

	
	
	stock.  At what price per share were the additional shares sold?
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	What does it mean?  Question 2:
	
	
	
	
	
	
	
	
	
	
	

	
	c.
	What was the average cost per share of common stock purchased for the treasury during the month?
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	What does it mean?  Question 3:
	
	
	
	
	
	
	
	
	
	
	

	
	d.
	During May, dividends on preferred stock equal to one-half of the 2002 dividend requirement were declared and
	
	

	
	
	paid.  There were no common dividends declared or paid in May.  Calculate net income for May.  Hint: Using the model 
	
	

	
	
	below, enter the beginning and ending balances of retained earnings, and then solve for the changes during the month.
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	Changes during month explain the balance change.
	Retained earnings, April 30, 2002
	
	
	$
	
	
	Change from
	
	

	
	
	
	{
	Add: Net income
	
	
	
	
	
	
	
	beginning to
	
	

	
	
	
	
	Less: Preferred stock dividend
	
	
	
	
	
	ending  =
	
	

	
	
	
	
	Retained earnings, May 31, 2002
	
	
	$
	
	
	0
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	What does it mean?  Question 4:
	
	
	
	
	
	
	
	
	
	
	

	
	e.
	Assume that on June 1, the board of directors declares a cash dividend of $0.42 per share on the outstanding 
	
	

	
	
	shares of common stock.  The dividend will be payable on July 15 to stockholders of record on June 15.
	
	
	

	
	
	1.   Calculate the total amount of the dividend.
	
	
	
	
	
	
	
	

	
	
	2.   Explain the impact this action will have on the June 30 balance sheet, and on the income statement for June.
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	What does it mean?  Question 5:
	
	
	
	
	
	
	
	
	
	
	

	
	f.
	Assuming that on June 1 the market value of the common stock is $36 per share and that the board of directors 
	
	

	
	
	declares a 3% stock dividend on the issued shares of common stock.  Use the horizontal model (or write the 
	
	

	
	
	journal entry) to show the issuance of the stock dividend.
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	Owners'
	
	Net 
	
	
	
	
	
	

	
	
	Assets
	 =
	Liabilities
	 +
	Equity
	
	Income
	 =
	Revenues
	 -
	Expenses
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	Account title 
	
	
	
	Dr.
	
	Cr.
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	What does it mean?  Question 6:
	
	
	
	
	
	
	
	
	
	
	

	
	g.
	Assume that instead of the stock dividend described in f above, the board of directors authorizes a 3-for-1 
	
	

	
	
	stock split on June 1 when the market price of common stock is $36 per share.
	
	
	
	
	
	

	
	
	1.   What will be the par value, and how many shares of common stock will be authorized after the split?
	
	
	

	
	
	2.   What will be the market price per share of common stock after the split?
	
	
	
	
	
	

	
	
	3.   How many shares of common stock will be in the treasury after the split?
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	3.   How many shares of common stock will be in the treasury after the split?
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	What does it mean?  Question 7:
	
	
	
	
	
	
	
	
	
	
	

	
	h.
	By how much will total stockholders' equity change as a result of:
	
	
	
	
	
	

	
	
	1.   The stock dividend described in part f?
	
	
	
	
	
	
	
	

	
	
	2.   The stock split described in part g?
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


